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REMERA
BEENo. | Bk | e BEIDY7 BH | gomimy | wEa (BT OvI7EL)
(m) kR | WEE | ®MAYvT | 100mm 150mm
1 B 0.34 Ik T-14 @) - 1 O As
2 B 0.30 BK T-14 ) 1 - — As F5 1000
3 BN 0.25 5K T-14 - 1 - - As BiR 11z
4 1) 0.25 Ak T-14 - 1 - o) As P
5 BN 0.16 ik T-14 o) - 1 o) As o -BESE T ! LiELE E - =
6 L) 0.32 HK T-14 - - - - As i LA L =
7 Bh 0.16 MK T-14 - - - O As -
8 #hEh 0.16 K T-14 - - - - As feamngy
9 3] 0.16 K T-14 - - - @) As
10 HEh 0.16 mzK T-14 - - - o) As N
11 R Bh 0.22 BK T-14 - - - - As
12 B 0.16 MK T-14 O - - O As
13 #HEh 0.16 K T-14 O - - - As
14 wBh 0.16 7K T-14 - - - @) As s -
15 BN 0.23 K T-14 - - - - As — E’%E%EB
16 W 0.16 K T-14 o - - o) As (REIJOvIHY)
17 B 0.26 HK T-14 o] 1 - - As
18 fHBh 0.16 MK T-14 - - - ) As ,
19 fHBh 0.30 HK T-14 - - 1 - As H3—HE 1280
20 (CLEY 0.19 [/ T-14 O - - O As SEH 1000
21 B 0.27 BHK T-14 O 1 - - As : -
22 BN 0.21 K T-14 - - - @) As
23 wE 0.16 RIK T-14 O - - o As po= CAIEIE N <ot nE RAEEAT |BEEE 3| O
24 e 0.27 BK T-14 o 1 - - As 3 -~ T =
25 THED 0.16 K T-14 - - - O As LA R — Ty
26 #Eh 027 B T-14 - 1 - - As
27 G 0.16 K T-14 - - - o) As )
28 HBh 0.33 K T-14 o] - 1 0 As wEITOvs
29 B 0.30 HK T-14 O 1 - - As
30 #Bh 0.16 [55¥/ T-14 - - - 0 As %
31 #Bh 0.27 HIK T-14 - 1 - - As
32 il 016 | Ak | T4 - - - - hs XKTUh—ILE (T-25) [FETRYYTHLEELET B, ‘
33 L 0.16 Rk T-14 - - - 0 As WMEBETLETFTKER
34 B 022 Bk T-14 - - - - As XOLM SIS EEYMORYVIELRSHDOERIIFE B &1 TREEFKX
35 N 0.23 Rk T-14 - - - o) As &95, I Ryh— VEYEIE
i S HEXR-FERER
XKOLM SR EMORYIELRSHDIE R4S % R |NON SCALE % g[ 3/3
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